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1 22 e 2023 A, & 4, Rggam & oo g GAIE A R RAN AR STEIT A S o

e et At (dieeer) i e mar 2 _
() SEECERET (b)) oHgEaER () SmEEQd REd  (d)  STEGTRE Fum
On 22nd July 2023, which Indian Naval vessel was decommissioned and handed over t, the
Vietnam People's Navy (VPN) in a ceremony held at Cam Ranh, Vietnam ?

(@) INSVikram  (b) INSTalwar () INSVikrant  (d) INSKirpan

2. 5w awe et 3 AR i R oitu-2003 a1 R S ?

(@) SR WHEe :lgm;ﬁ
€ 3 g @ il Gl
Which chess player won the FIDE Grand Swiss Open title-2023 ?
{2 R Praggnanandhaa (b)  Vidit Gujrathi
() D Gukesh (d) Koneru Humpy
3. 9Ra & Frafafee of gum ahdid |, forert st & et 1o & wpeer woft & w0 i el fohar 2
(@) ARRSH g (b) == R
© @ difRiE (d) o &t RRERE

Who among the following former Prime Ministers of India never served as Chief Minister of any

Indian state ?
(@) Morar Ji Desai () Chandra Shekhar
() VPSingh (d) PV Narsimharao

4. WRA TER GRT Y& 6l T "IYSTH YRS’ T a1 32 eg T AT B
(a) Rreril & fr R agmar
(b) it & fog Fsew Ran
Ae) onfdfer ¥U & FHWR ImER} & Ry @y @
d) IR F oy Ramdt gadar
The 'Ayushman Bharat' scheme launched by the Indian government aims to provide :
(@) Financial assistance for farmers

(b) Free education for girls .
(c)  Health insurance for the economically vulnerable population

(d) Subsidized medicine for homeless

5. 2024 § WRAIG oGS feaw ke F v 331 &t E=7 gadt 3 o fomn 2

() WY IR R (b) f=
(c) SR @) wE
Which country’s military contingent participated in the Indian Republic Day parade in 2024 ?
(@) UAE (b) Egypt
(c) Bangladesh (d) France
6. UEAGE@IfRag_ @tFARTSargl
26 (d) 27 S

(@ 245t (b) 25FFa (©)

National Voter’s Day is observed on ) :
(@) 24t January (b) 25t January () 26t January (d) 27t January
JH-01/B i 2
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m?ﬂuaiaﬁama:aga,#@mwcswmm\%l
OEERISEIEE Aeeirge wi-a Afeee ST

}b) Toiae deage ol Afgad

(© foraremd Hier 18e dfgee

(d) raifma deege Afsn 3=

Under Indian space programme, the abbreviation GSLV stands for
@) Geosynchronous Satellite Launch Vehicle

(b) Global Satellite Link Vehicle

(c) Geostationary Solar Light Vehicle

(d) Geosynchronous Satellite Landing Van

frg Hifeie SISR &l I18: 9IRAIE WA 1 " 'gea 3R s w7 sar 812

() THFaT @ SHER

(b) fife W & SR

(@ e 3R R wedr B JHR

(@) wuE IR @ AUAR

Which fundamental right is often regarded as the "heart and soul" of the Indian Constitution ?
(@) Rightto Equality S

(b) Right to Freedom of Religion

() Rightto Life and Personal Liberty

(d) Right to Constitutional Remedies

Prefafed & @ F G20 & 9% 781 8 ?

(p) TR (b) dqfHd (c) gsHRmE (d) ARt
Which of the following is NOT a member of G20 ?

(a) Singapore (b) Tiirkiye () Indonesia (d) Mexico

gmw@mmﬁm@aﬁasﬁqmasﬁﬁmaﬂgm B
(@ 59 fb) 10 9T () 1291 . (d) 169

Maximum age for an eligible girl for opening an account in Sukanya Samriddhi Yojana is up to

(a) Syeal.'s (b) 10years () 12years (d) 16 years

G20 Y TATYHT T AT e HIR0T T 41 ?

(a) eaTadh 3nffe AAiferTd 4g (b) SHTdRATE _
() TRAIRIL ) e iy = wevEE
What was the primary reason for the establishment of G20 ?

(@) Macro-economic policy issues (b) Terrorism

(c) Free Trade Issues (d) Maintenance of Global peace

P.T.O.
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() ™I (b) @ e
() oo g AR (d) M TE ,
The central dome of Rashtrapati Bhavan is inspired by which famous structure?
(@)  Sanchi Stupa (b)  Taj Mahal
(c) Konark Sun Temple (d) Gol Gumbaz
13. ﬁw%@aﬁ@aﬁqmqaﬂﬁﬂﬁa;ﬁwmqﬁa?
() fa omam (b) ST T I
(© v faw smat (d) T AFEReR T
Which one of the following is not a Constitutional body ?
(@) Finance Commission (b)  State Election Commission
(c)  State Finance Commission (d) National Human Rights Commission
14. 2026 aﬂa?mﬁ:raﬁﬁfaa;ﬁﬂaamﬁﬁwm%&rmw%?
(@ == (b) st © e d) w4
Which country is set to host 2026 Winter Olympics ?
(@) China (b) Italy (€ India (d) Russia

®)

aﬂuﬁwﬁ,mﬂ’fﬁré&ﬁﬁaﬂqsﬂ?ﬁ@aﬂéﬁ%mm%laﬁ#ﬁmmﬁw%&mwﬁ@%
Gmﬁamar@rmmaﬁaaﬁﬂﬁ?

(d) Ut (b) W FHIAA © T d) @Ed@rda

You are given water, mustard oil, glycerine, and kerosene. In which of these media a ray of light
incident obliquely at the same angle would bend the most ?

(a) water (b) mustard oil () glycerine (d) kerosene

7% 16 3R 17 & fg Rear-Ads: PefafRg s I U 3R I SMUR W el &t & F31

(i)

(i)

(i)
(iv)

fafera fawa, srufq sfier, spite, s, i SRR SR HATER R B8 TR U 3% § araflyg &
(S 78T 6 32t ot & &) mmw-mw%ﬁﬁéﬁﬂ%mmqﬁﬁm,ﬁ,m
3R A & '
@Gﬁaﬁﬁﬁma}mm@ﬂs‘aéamﬁ%,ﬂﬁmaﬁﬁﬁﬁ,ﬁmﬁ@ﬂéaa%w
a1 A3 dir g B

aﬁamﬁmaséﬁéaﬁ?a@%a%aa:ﬁ%?@wél

Eﬁmﬁﬁﬁﬁm?ﬁa%é’@maﬁ?aﬁaﬁa%mﬁ%l%ﬁ@rﬁmm:ﬁmﬁ%aﬁzghma‘h
forare 3y & &)

Directions for questions 16 and 17 : Read the following Statements and solve the questions based on it.

@

(i)

(1)
(iv)

Six books on different subjects, viz., History, Geography, English, Hindi, Economics and
Psyc:hology, are arranged in a pile (not necessarily in the same order). Each book belongs to
different persons whose names are Debasis, Harsh, Vishwas, Ravi, Sanjay and Neeta.

English book, which is kept on the top, belongs to Debasis, Psychology book, which is kept at the
bottom does not belong to Sanjay or Ravi.

Economics book belongs to Harsh and is kept immediately below Hindi.

History book is immediately above Geography and immediately below Economics. Hindi book

bel t i i
ongs to Neeta and History. book belongs to Ravi. T - émk%

Pal Ay
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17.

18.

19.

20.

JH abc s
il ) 51 13 L

FRfATE gk fREhl 8 ?

(@) ;ﬂ? (b) g

© (d) RufRg

Whom does the Psychology book belong to ? ! R s

(a) Neeta (b) \Y% iShVVas

©) Harsh (d) Cannot be determined

2 & e = 9 arefi g ?

(@) ®) F & orfars @ &
Which book is fourth from the bottom ?

() History (b) Geography - (c) Economics  (d) Hindi

Prefaifaa et d, quiATen sjen & fafa ue fag g § o ' S P

. s 7 fde uE g & (2 ST
wélﬁqmﬁmﬁéwmgﬁql A i @)

In the following question, various terms of an alphabet series are given with one or more terms

missing as shown by (7). Choose the missing terms out of the given alternatives.

ajS, gpy: ?/ Sbkl th

(ay dmv (b) mve (9 meu d) qz
4 forg g STeeT Y AT S A AR R ABC DEFM.H{’JKLMNO/Q
1. U5 . e RS T bpLXY
3. aH 4., &R 1 a kK lo \\ W\~ *
5. @i oA
. . . By ¢ 22 3
Arrange the words given below in a meaningful sequence.
LR ™M 12 \8 1343
1. Word 2. Paragraph op x P e =g \
3.  Sentence 4. Letters \3; \6 QYs ¢
5. Phrase + vy
@ 4152 9 B 41 3,52 © 4251, 3 d 4153 2
afe “MYTHOLOGICAL” amasqaﬁaﬁ?aiﬁﬁa{aﬁﬁ@ﬁmﬁmﬁm; = TR T IR
ga%aiﬁqamﬁwqaﬁamﬁmﬁmm%gaﬁ,ﬁmémﬁnﬁf@ﬁﬁﬁﬁqmammq‘
BRA A g ?
If the positions of the first and last letters of the word MYTHOLOGICAL are interchanged;
similarly the positions of the second and second last letters are interchanged and so on, then which
of the following letters will be 8t from the left end after arrangement ? lq \3° é"\
@ O ) H ) L . @ G :)B‘{
2y o UaT TG ? LZE\(}\OLOHTYM 1k
Find the odd one out ? q g\ \&
@ JQK (b) B\{Cq | (¢ LRM (@ OPX B, Y
qu\\J\(ﬂmh 05/9 g AT A AW WY & PT.O.

T 2 -
. @‘bi_‘i%{;t\‘?\kl J LM

D1 > 0 A o~ D 0 N



22.  ggi HHH T & SrgETRd T wes Ry g &

Here are some words translated from an artificia] language.

e lelibroon means yellow hat
. plekafroti means flower garden
. frotimix means garden salad

fasa arez @1 o "yellow flower" 8 Ty 22

Which word could mean "yellow flower" ?

(@) lelifroti B lelipleka (©)  plekabroon (d) frotibroon

U 23 ﬁzeas%qﬁan-ﬁi‘sr:ﬁwﬁﬁammﬁq—%aﬁzmmmmmﬁaﬁgaaﬁl

() vHEREEA6mmE A, B,C,D,Eaﬂ'\’FlW'A'aﬁz'c'ﬁmﬁﬂmﬁ?ﬂgmﬁmmﬂﬁaﬁﬁ
U 8§l Afey g garar 21

(i) eSms=aAfRP, Q RS, T,U,waﬁzxer?rsqamﬁﬁzgmau Q, T 3R X Afgad § Stafds ardhr gow &1 R
%ﬁ%mﬁﬁaﬁwtﬁmﬁwmq‘eﬁwwml -

(iil) IS off ey ST C A F o <t Y duR i 2

(iv) P ST <611 Teel & AT orer . B a1 D & 7 < vy

(v) sﬁqameﬁﬁmm%éﬁﬁagumwaamwaﬁ%%ﬁmﬁ%u
(Vi) X Sroa T aren A e el o

Directions for questions 23 to 26 : Read the following passage and solve the questions based on it.
(i) Aresorthas 6 rooms—A, B, C, D, E and F. Rooms ‘A’ and ‘<
the rest can accommodate only one person each.

(i)  Eight persons P, Q,R,S, T, U, W and X are to live in these rooms. Q, T, and X are females while the

rest are males. Persons of different genders can’t be put together in the same room.
(iii) No man is willing to live in room C or F.

: | Rovﬁ’\ [ CR "i(’z'sci
(iv) P wants to live alone but doesn’t want to live in room B or D.

can accommodate two persons each;

(V) Sneedsa parther but is not ready to live with either U or W. ** A g_ c
(vi) X does not want to share her room. % R
S
2. PR F 8 @ wae B < 7 f- T
@ U - B W _ F v
© P d) FufRa el fovar s aear =
Who among the following will live in room E ? W
@ U (b) W xX-F
© P (d) Cannot be determined
2. UfraffRad @ frg s @ o
@ B ~ (b) D © A (d B@D
In which of the following rooms will U live ?
@ B (b) D © A (d) BorD
i’F—"
JH-01/B % - G T%
— - — 2
X ¢— 60X b i 2



25.

26.

28.

29.

« Frfad & R R A @ ?

@ C (b) F

© B (@) FufRa 78 Ry o gear
X will live in which of the following rooms ?

@ C (b) F

© B (d) Cannot be determined

o 9 EY T &Y Ha B W A o (G R g et @ Rt smasahar 81 € 7

(a) (i) (b) (iv) © () () @l emEEE §
Which of the given statements is not needed to complete the living arrangement so far ?
(@) (i) (b) (i) ©. (v) . (dy Allare necessary

@WM#&@H@@%%%W%& & gg Tl =rean o7 5 9% R | frdt &l ual Tl U@
R d! Tt 3 gET, "EHR U o i o ek & g 10T T & aTe, I SRR Rt “eret!” Al &
ﬁaaﬁa?ra‘rmqa@mﬁﬁﬁﬂﬁﬁaﬂia‘raﬁf;imaﬁa;-aﬁaar48waia?aﬁf¢i@wﬁa;awﬁ$
& & SR & SIER g1 U 30 o gt T ST I8 UdT AR SATARY B U &Y HEE &R Uhd & B
rrd % T R A 3 R £ 2 |

A rich merchant had collected many gold coins. He did not want anybody to know about him. One
day his wife asked, "How many gold coins do we have?" After pausing for a moment, he replied
mWelll if I divide the coins into two unequal numbers, then 48 times the difference between the two

numbers equals the difference between the squares of the two numbers." The wife looked puzzled.
Can you help the merchant's wife by finding out how many gold coins the merchant has?

@ 9 (b) 53 © 43 S 48

Py TR T T S Pl 2R o TG G el & 1) T TR e et € 7
Which type of software can translate scanned text that you can edit ?
@ OCs (b) ORC (& OCR (d) ORS

qaamﬁﬂaﬁazﬁwma%ﬁwwzmﬁzﬁﬁ%ﬁwmwﬁwwi@ﬁ%%q%mwmﬁseﬁq
ﬁmﬁaﬁﬁ-wﬁaﬁﬂ,%&ﬁaﬁ?wﬁﬁﬁﬁaﬁqmm@ﬁwﬁam deror ® g T
'15ﬁquzairs"rarﬁ'rrreﬂ,2ﬁwdﬁﬁaﬁﬂaﬁzwﬁ§%ﬁéﬁﬂﬁﬁmﬁﬁm12ﬁ%%u‘r%n,6ﬁqm
aﬁﬁaﬁnaﬁzmmaﬁﬂmﬁz’rwﬁ%ﬁ,11ﬁwﬁ@tﬁ,4ﬁmaﬁ?wﬁ@fmﬁ,3ﬁeﬂﬁﬁm
A1 37 B & e @ & o g oft freed et am

A survey on a sample of 25 new cars being sold at a local auto dealer was conducted to see which
of the three popular options - air-conditioning, radio and power windows were already installed.
The survey found: 15 had air-conditioning, 2 had air-conditioning and power windows but no
radios, 12 had radio, 6 had air-conditioning and radio but no power windows, 11 had power
windows, 4 had radio and power windows, 3 had all three options. What i ’

' ! . at 1s t
that had none of the options ? P he number of cars

@ ¢ B3 © 2 @ 1

JH-01/B 7
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@0) folt orgede & afShr ok TR & fe SR E R A el o g

31.

32.

pv 2t

33.

35.

(a) ¥ (b) TR (€) &M (d) xgor
The space left between the ‘margin’ and the ‘start’ of a paragraph is called .
(a) Spacing (b) gutter (c) Indentation (d) Alignment

Ueh quaTen 80 Fiex gu H 20 ofer urft fremmar &1 g9 Msyor ot ga-shord et 3= & e, 393 A € w0
ﬁﬁwﬁnﬁ%mwﬁuﬁﬁmu@ﬁwﬁzﬁrﬁmeﬁmw%?

A milkman mixes 20 litres of water with 80 litres of milk. After selling one-fourth of this mixture,

he adds water to replenish the quantity that he had sold. What is the current proportion of water
to milk? m W

(@) 2:3 b) 1:2 @ 1:3 w ! % d) 3:4 éﬁ?ﬁ%

: , 2 -
Rw 7 e s1eR W Qe s sifthd B S §1 3 demedl & Al 9r @i ceerel | 9 99
farenea @1 wam R it gon arfes 2reg ST B

A number has been denoted to each of the given letters. Select the option from the following four
|possible arrangements of these numbers that forms a meaningful word. ; !

E=1,Z=2,L=3,P=4U=5Z=6 e -

@ 451623 (b)) 61,4352 () 1,53426 . 4,56,2,3,1
bvezo L Z )m'PUZILE

&l GaR, i dhet 3R TR A hl A 15 20 §1 o1 ek, 3 dhet 3R op 9 HY Hiwd 10 30 §1 53 3 IR

3 &t 3R 3 Yg @A | F7 foheT o R 2 |

Two oranges, three bananas, and four apples cost Rs. 15. Three oranges, two bananas, and one
apple cost Rs. 10. I bought 3 oranges, 3 bananas and 3 apples.. How much did I pay?

(@ Rs.10 (b) Rs.8 .y Rs.15. (d)- Rs.30 |50 5 -5
e & v it ot g R i Ao # gaeao
(@) "I frmrmar | | o % Lpf_ g Lo~ 1S
(b) o ofter Ry St o= forar man at3tns
(e) o @ vee & gfia R PRt - ' Asie
(@) T f R w7 $x3+3= oin
Discussion in class will be more effective if the topic of discussion is . 5o

(@) Not introduced |52

(b)  Written on the board without introducing it i_ffo 4

(c) Informed to the students in advance [2° _\g

(d) None of the options are correct | (o~

auTed Gt Raté (1993) wram & ' ;‘J{OD

(@) e RemrFLCT, (b)  fam sier & Hkaen

(€) TR & Arenw § g (d) SR H d FE T

The name of Yashpal Committee Report (1993) is :

(@) LCT. in Teacher education (b) Learning without Burden

(C), Leamipg through Broadcasting (d) None of the above

JH-01/B 8




(‘@ ol y s ged & ot AT 2<x<3 OR —8<y<—7 3 wiqe awdh #1 Fraffea § & R aifSreafa

F A G FAE?
() oY (b)  x%
© v (d) F Rreredt & @ @S oft aét 78T 8

x and y are real numbers satisfying the conditions 2<x<3 and —8<y<—7. Which of the following
expressions have the least value ? ‘

(a) 5xy (b) xzy

© (d) None of the options are correct

@ SR & @ A 91 T S a1 SR Rearew & ot Rieen # gete daRe & M & A At
mﬁaﬁmma?

(a) UA-aERE (b) RN (©) wRRaTd (d) TTEER GRe

Which of the following is a program or hardware device that filters information coming
through an Internet connection in system ?

(a) Anti-virus (p) Cookies (& Firewalls (d) Cyber safety

38. e & s areAE aa e ?
() Ues a1 dhael UTGHshA it aeh &t Wi e & 36T 8
(b) T e et BT GRI IBTY Y Uil 1 IR & T 8
(© e FReTeh TReT IRME 1Y W@ @ iR sf¥afia w0 @ Sufefa ofdr &
Ad) T Rrere TTs 3R SUR WE o QM S SHUR R AR & T &
What is more desirable in a classroom ?
(@) A teacher delivering a lecture restricted to the course content only
(b) A teacher answering questions raised by students only

(©) A teacher maintaining strict discipline and taking attendance irregularly

(d) A teacher delivering a lecture on the basis of the text and his/her own research

39. = Afere & amgdh e At AT i ge geT 8, St o geaert 7 g: 1 A, 10 e ok 50 e s e
T & 107 A a1 feret gomt Tehdl & ?

Suppose you have a currency, named Miso, in three denominations: 1 Miso, 10 Misos and
50 Misos. In how many ways can you pay a bill of 107 Misos ?

(@ 16 (b) 18 e 15 d) 19 fi} - ; 0' l :ZIDS
fo Lo e
40, =l e 3 ot oeReEH B 3 g et aféee dhol e ST v s 2 o
Which shortcut key is used to double underline the selected text ? gy ™
[ ) CuliD ® Cul+U @ CulsshiftU "
JH—OE‘/B a ‘\' S I Y 9 5 T o1 g 10 P.T.O.
i 50 =10 © ?5 s T “Q Y /,L

4
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aﬁwmaﬁww%nﬂﬁmaﬁzqgﬁaﬁﬁﬁé@a%@ﬂrﬁé?
(a) arfir (b) Ul () drR@d (d) @

Which channel of Swayam Prabha is associated with Psychology and Home Science related
subjects ?

(a) VAGEESH (b) SANSKRITI  (c) SAARASWAT (d) KAUTILYA

aﬁ@mﬁ?ﬁﬁmﬁamaénqﬁaﬂu’mugﬁl9ua°fawzm%,a’rq3ﬁ3oqﬁamu’mm??
@ O b)) -1 © 1 (d) e & @ &1 61

If the sum of first 11 terms of an arithmetic progression equals that of the first 19 terms, then what
is the sum of first 30 terms ?

@ O (b) & =i (c) il (d) None of the above

ﬁ@gqim,qaémmm@zm&@%mmﬁﬁﬁdzfmwal IR ¥ GHATER ¢
aﬁgamﬁmwﬁaaqﬁxa?mm%l mﬁﬁzoomémmﬁw*mﬁmﬂhﬁ
améﬁﬁwﬁm‘s‘mgﬁmélmaméﬁwgmmaﬁwﬁmﬁaﬁa‘s‘mm?

(@) 1200 wIR (b) 1000 iR (c) 1100 wfiex (d) 700w

Two full tanks, one shaped like a cylinder and the other like a cone, contain jet fuel. The cylindrical
tank holds 500 litres more than the conical tank. After 200 litres of fuel has been pumped out from
each tank, the cy]jndrical tank contains twice the amount of fuel in the conical tank. How many
litres of fuel did the cylindrical tank have when it was full?

(@) 1200 litres (b) 1000 litres (c) 1100 litres (d) 700 litres

___ﬁﬁamﬁmfﬁmzﬁﬁmam,aﬁ,maﬁzmaﬁm amenRa g =Ry arfe
G%Wmﬁmmﬁ#%qmawaﬂam,m,qﬁwwaﬁm%mwﬁ|

(@) HedTHT (b)  SHTeher (Q UTSusHA (d) IR § @ @i T8

should be based upon the need, interest, aptitude and abilities of learner at different

levels in order to acquire necessary skills, knowledge, attitude values for realizing their full
potential.

(@) Evaluation (b) Assessment () Curriculum (d) None of the above

Prfef@d & @ @ a1 Aféres AT @1 g gfemon g ?

@) - o (b) v T GfRT
o 27 (a) 3R (b) (d) Sude A d IS el
Which of the following is an approach to educational planning ?

(@) Manpower approach (b)  Social Demand approach

(c) Both (a) and (b) (d) None of the above

- JH-01/B
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49.

50.

51.

mmﬁamﬁmmmm&ﬁmﬁmﬂﬁwmm%

|
In Microsoft PowerPoint two kinds of sound effects fijag th

at can be added to the presentation are

(@) -wav f?les & .Tnid .files (b) .wav files & gif files
(© .wav files & jpg files (d) jpg files & gif files
3 IR TS & GRET T gl
protects data and passwords.
(@) Authentication (b) Encryption (©)  Authorization (d) Non- Encryption

@ﬁmmaﬁzmﬂﬁﬁﬁ)ﬁaﬁﬁmmﬁﬁammmﬁmm%lgra‘ﬁ,ﬁmm—
e SR o wiafafrat & derer # WE & wdtawor & way § e A jongy @ & @ 2
faenffail & ufa [Ners w1 g aar & 2

(@) SmfEeRIRS (b) <HdifBs (c) <ritem (d) @R

A teacher is strict in maintaining discipline in the class both in curricular and extracurricular
activities. However, there is always room for discussion regarding clarification of doubts in

teaching-learning and conducting other activities. What is the approach of teacher towards
students ?

42y Authoritative  (b) Democratic (c) Flexible (d) Rigid
fdt 8= & FaER & uRUET & gafgae & & g 8= & ardmaRer & gEr SAET a1 ARG FHAT
hgeTdl 5
(@) Eahd ST (b) Ggdeur (©) SHR T (d) o REE

Planning or arranging the student’s environment in order to predict the consequences of a
student’s behaviour is referred to as :

(@) Prompting (b) Reinforcement -c) Shaping (d) Stimulus control
gfeaivl, geg 3k Tfat Zr ufafdfea g &
(a) FFATHS A (b) THTELTTE ST
(€) WTgdHR A | (d) SR H T S TS
Attitudes, values, and interests are reflected by :
4a) Cognitive domain (b) Affective domain
() Psychomotor domain (d) None of the above

ST & fohe U] T ST e R Sl & ST U fRNare ag R dhar @ R o nfoa # ges snare
R ok 7g <6 R e o e we o fafve & ?

(@ & (b) eaTEgIREdl (© fyerfaar (d) R=ar

Which aspect of evaluation is used when a teacher ensures that students complete an exercise in
mathematics and also makes sure that instructions are clear and specific ?

(@) Validity (b) Practicality (c)  Reliability (d) Consistency

JH-01/B 11 P.T.O.



52 U& AU 3 @t diet &R, it sk e, A @ gmmmﬁtﬁmmmmaswfmw@u‘f%ma%m
fovar ST 81 ﬁwg@ﬁmﬁaﬂaﬁ@%mmm%%%ﬁﬁﬂﬂﬁmmﬁﬁaﬂwwmqﬁ?
A new flag is to be designed with six vertical stripes using some or all of the colours, yelloy
green, blue, and red. Then the number of ways this can be done such that no two adjacent stripe
have the same colour is :
(@) 24x216 (b) 16x192 (c) 20x125 (d) 12x81
53. HISHINIUE TS T IuahT s forg e rar 2 2
(2) e & @El R TR @@ & fag)
(b)  TE ST use Tt @ ge R @)
(© maﬁ%zﬂﬂma;fﬁqm%mm%l
(d) S8 3R AfRTTg THER &7 TaeT|
What is Microsoft Outlook used for ?
(@)  To keep a track of office expenses.
(b) Itisa part of the diary management system.
(c)  Used to assist with company audits.
(d) The management of emails and personal information
54. <% 9T HifS |
Find the word.
Amnesia : Memory : : Paralysis : ?
(@@ Movement (b) Limbs () Handicapped (d) Legs
55. AABCH, /B @HaIUT §, AC=6 9} 3R D, AC &1 qegfdg 81 BD ol &g fhaht & 2
~ A '
D
B €
(@) 43 (b) 61/2@Hh e 3T (d) 353
In AABC, /B is right angled, AC=6 cm and D is the midpoint of AC. What is the length of BD ?
A
D
i <
® 4em (b) 61/2 cm © 3em (d) 35cm
JH-01/B
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56.

57.

58.

59.

60.

A=faf@d J @ @19 97 e 3ye feasa 8 ?

(@) M (b) &R (€ fier @ w
Which of the following is an input device ?

(@ Monitor (b) Speaker (€)  Printer (d) Mouse
freroT & SIS RIgid & ufauree & :

() AT (b) T FuR

@ g R (d)  ueh e

The proponent of the Cognitive Theory of teaching is :

@ N.L.Gage (b)  Shiv Kumar Mitra

() B.F.Skinner (d) Al Leijen

qﬁﬂﬂéﬁlO fepet/erer Y ifal @ wsfehet Tomen &, g duer 1 a9t vw A @E w ugEar 21 ot
a5 15 fehet/ et Bt 7if § wrsfohet =retr 8, Tt a5 o 11 st S @I W U e & T 12 &9 a8
ygan & g 99 fog fa @ wrsfehet =t it 2

@ UREEa ©) BREEa () ufslra (@ 2R

If aman cycles at 10 km/hr, then he arrives at a certain place at 1 p.m. If he cycles at 15 km/hr, he
will arrive at the same place at 11 a.m. At what speed must he cycle to get there at 12 noon ?

(@ 11km/hr (b) 13 km/hr () 14km/hr (d) 12km/hr

T eE GaTed & 918, TR Ueh TR i SR e e e ATl @ i ST Sieh Igeh Alfe IR uStl IE
T fohg fe=mm & sk U1 ?

@ w (b) ufEH (0 e (o oo

One morning after sunrise, Suresh was standing facing a pole. The shadow of the pole fell exactly

to his right. To which direction was he facing ?
(a) East - (b)) West (c) South (d) Datais inadequate

l

e & Bt & g of §Tg W & foig, T e Iy i
() Ryeror GETaeE Gt e SifdrehdH JUANT T

3 [ 6]

(b) ==t @ ¢ |8 »
() T3 B TH GBI | w\
5

-

eI

1(4) Sudad gt

To maintain interest among students in class, a teacher should

(@) Make maximum use of teaching aids e i L o
(b) Discuss 3 5
(©) Ask questions intermittently DR Stn, Cf.%o 40
(d) Allof the above q — Ny e
T ————F10.
15 L — = 30Km 1 R P.T.O
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Wmﬁﬁwﬁﬁ@wglm%%%qmaﬁ?mmmmaﬂ?
SIUTd o T 81 e 39 @t &t Bther W & o7t Riaent @ e 78 21 )

Four identical coins are placed in a square. For each coin, the ratio of

| ' area to circumference g sar
as the ratio of circumference to area. Then find the area of the square that is not covered by
coins.

@ 16(w—4) (b) 16(8—m) (© 16(w—1) (d) 16(4—m)
62. ST § IATAT U T gh ?
What will be the next term in the series ?
27, 64,125, 216, 343, ?
(@) 416 () 512 (c) 686 (d) 559
63. U BT 13 &I 31 fora1 8 3R b ik d & Sfiar 9fid &t Srar &, 39 R B HSE & ArTet
&1 A fear ma g1
(@) gf® sftorar | (b) AFE Hear
(c) Hre $ srerar (@) IR o T
A student writes 13 as 31 and confused between b and d, this type of case of difficulty named
(@ Visual Impairment (b) Mental Retardation ( Z
() Learning Disability (d) None of the above =
3 2
64. Uah AToRfén fQeeq s aearg ?
(@) U S Sit BTEaTR SR AiveadR v &t Aafd wear @
(b) U BEAR oy &
(€) U U Sit €U I aht FeTferd el &
d) Suied asft
What does an operating system do ?
(@) An interface that regulates hardware and software programs :
(b) A hardware device '
(©) A program that operates the hardware devices (
(d) All of the above <+ i 4 /7 + J{, Ay
2
65. Pl 4 2 @ ar wad aer 22 ‘ e
21/2,31/3 41/4 g 61/6 wET
Which among the following is the largest ?
21/2,31/3, 41/4 and 61/6 »
(a) 6Y6 (b) 41/4 (o) 8143 (@ 22

IH“O]/B 14



%! mmmmmmwmuﬁmmwmmm%:
(3) 8 HSI & IR e CRIN
(b) TEF 7 daa & fag 39 sfeAT
(© Rt o o @ wE) IR A & forg gt
(d) T TR I TORSHETST ech ST HH IHRT F7 7
The best way to react to a wrong answer given by a student is
(@ To explain why the answer is wrong
(b) To scold him for not having learnt the lesson
() To ask another student to give the correct answer
(

d) To ignore the wrong answer and pass on the next question

67. T8 & P T UrHaS HaE FHfad 6 ?

Which of the passwords is the most secure ?
(@) Boatl23 (b) WTh!5Z (©r into*48 (d) 123456

68. U FffT ot & areiie ufdera wHart gey & ofik 75% gy ufay av 25,000 T0d @ sifie HA1d €1 3
Ut 3 45% HHEAR fd a 25,000 T F 3 FAN &, o Hut F FRiRa Afgersit @ e e ufa
g9 25,000 3T IT IGY HH HHTAT & ?

Forty percent of the employees of a certain company are men and 75% of the men earn more than

Rs. 25,000 per year. If 45% of the company's employees earn more than Rs. 25,000 per year, what
fraction of the women employed by the company earn Rs. 25,000 or less per year ?

@ 2/11 - 1/4 (& d) 3/4
69. FrfifRd d & F1 I Tl SHeamR T8 § ?
(@ f=i=11 (b) asUs (€) IR (d) THTY-TaRd
Which of the following is not an application Software ?
(a) Windows11l b) WordPad (c) Photoshop (d) MS-excel

70, R § | a9 a1 ud srwRfe R T8 § 2

(@) frw (b) o (¢ 3™ (d) oRea
Which of the following is not an Operating system ?
(@ Windows _(b) Linux (0 DOS (d) Oracle
71 wwmwﬁmmﬁqaﬁqﬁwﬁm%w@\mmg,
(@) IR (b) AR () HITEeR (d) IR
A computer program that converts an entire program into machine language is called a/an
(a) Interpreter (b) SimulatoAr)( ley  Compiler (d) Commander
OA IV n e
JH-0 ey — : Lo A (3 -4 T’”fO
IH-(,)‘IS/’B o - G 5 15 /étv\ﬂ;l 3o~ JIMere dum
o ° &

L



Heqd el F1fgu

uﬁmﬁaﬁawnﬁahmm%agmﬁ:ﬁm%,aﬂﬂwaﬁ

2.

@) g i S g (b) s ag GHa FatG & 81 ¢

a .
() 38 3o i & gEET (d) @7 & fag & y:
hould feel :

If students do not understand what is taught in the classroom, the teacher should fe

(é) Terribly bored (b) That he/sheis wasting time

() To explain it in a different way (d) Pity for the students
73. AB @I T AR U Siefgw dier mam 81 fig C ¥, AB R Ua foig, AB R dadd e @1 @it S 2«

Dwadﬁﬁqﬁﬂaﬁwmélugala?rgqfé:AC=2@n°reﬂ1CD=6ﬁrﬁ,a'rféiﬁﬁaﬁfqu
&thel g

A semicircle is drawn with AB as its diameter. From point C, a point on AB, a line perpe_ndlcular t
AB is drawn meeting the circumference of the semi-circle at D. Given that AC=2 cm an

CD= 6 cm, the area of the semi-circle in sq.cm will be :

@ 32w b) 50w @ 405 (d) 8l

74. WISR GG ?
(a) TR e AR & TReM Ve el &
(b) ETSER YRAT TSR INciharieat 3 Rt TRem yer st &
() aTEeR GRen fhdt e &t arEer g9l @ s=rht &
(@) Swi gt
What is the Cyber Security ?

(@)  Cyber Security provides security against malware

(b)  Cyber Security provides security against cyber-terrorists
(c)  Cyber Security protects a system from cyber attacks
(d) All of above

75. AT § Uedt ofE=g @t IuEhT &t e & forg fvar simar &

(a) gt efiTeg (b) & Fdaed

() eI sseye (dy Awsd

Flow lines in a flowchart are used to connect

(@) Two terminals (b)  Two connectors
(€)  Two Input/output (d) All of these

JH-01/B 16



Direction (76-77) : Read the passage and answer the given questions,
COVID ushered in a plethora of platforms for many an indulge
vicariously through the click of a finger. Plastic money bec
consumers the power to indulge in their favourite pastime i.e, shopping anytime anywhere

The cunning .world of the web is sharp and astute. It catches the C()?:w;ur?‘cr:c;es}’:rec; 1na floods their
online shopping arena with a multitude of options, leaving the o;)r c<;ﬁgurﬁer f]g:bber asted and
confused. The web does it craftily. It carefully spreads its icy tentaclsc, and erﬁ owers the hfman mind
to gravitate towards commodities and pushes it to pick up the best Optki e p :

Nt consumer to satiate the urge to spend
ame the order of the day and gave the

on it thinks is available.

76. According to the passage, what does the world of web do to the human mind ?
(@ The world of web gives clarity to the human mind.
(b) The world of web can deceive the human mind.
(¢ The world of web can help the human mind to choose.
(d) The world of web provides very few options.

77. What feelings are induced during online shopping ?
(@) pleasure (b) complacency  (c) hatred (d) sadness

78. Find out which part of the given below sentence has an error, if no error then mark your answer as
ISI :
[ have not seen him since twenty years (P) / so I cannot say with certainty whether (Q) / he is
dead or alive. (R) / No error (S).

Aa) P (b) Q © R d) S

79. Select the correct meaning of the following idiom.
“Come rain or shine”

(8) To think carefully (b) to do spontaneously
() No matter what (d) It will rain heavily

80. Choose the option which can be substituted for the given sentence.
‘An imaginary ideal society free of poverty and suffering’
(@) = Utopia (b) Dystopia (c) Destiny (d) Dilemma

81. Select the most appropriate ANTONYM for the word : “Aggravate” :
(@) Abate (b) Elevate (c) Allay (d) Mitigate

s of six sentences. The first (S1) and sixth (S6) sentence have been
given. The middle four sentences are jumbled up. They are labelled as P, Q, R and S. Place the four
sentences in proper order and mark the most approprlate Iorder.
S1  Mohan had always been interested in learning martial art.

82. The following passage consist

P He liked watching martial art movies.
Q  Mohan said he wanted to learn karate. ' .
R  His parents asked him what he would like for his blrthday..
S They looked at a few karate studios before they founq the right one.
S6  Mohan was very excited and couldn’t wait to start doing karate.
I pon G RQPS (©) PRQS (d) PRSQ
- = P.T.O.



83.

85.

86.

87.

88.

89.

90.

Select the most appropriate SYNONYM for the word “ Peculiar” :

(@) Funny (b)  Unusual (c) Normal

Four words are given below, select the correctly spelt word.

(@) Macaber (b) Macabre () Macebre

Fill in the blanks from the given options :

The came out of the pen to graze in the field.

(@) sheep .@) sheeps (c) sheepes (d)
fr=ffea e o1 g8t IR-feae Rifgd &

T

(@) T+ (b) TR+ () T+ 3 (d
fafafEa st & Suged see/adt adf e s =

(a) dreHifR (k) areHifh (c)  STcHYRT (d)
'O gHS TRSId 49 GRT’ § i 9T SAhR & ?

(@) SuHT (b) SrguTE (€ wUh (d)
f=faf@a gereri/ateiiaat o gag Iugea o & o A & |

UahTs TR WR g a1 &feran

@y gufE (b) HuTg () WRURFR@HT (d)
frafaf@a & @ g & g ¥ & 997 Hiod

(@) SEGETE (b)) FHRTHTAR (o FHTEES ()

(d)

Ordinary

Macbre

sheepies

g+ 3

Zforar @ T

37k Goh O &
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ffaf@d meri &t ug ok 3uds iR R g ust & SR e F @ F

@mmﬁﬁmémmaﬁmﬁwmmﬁmawawﬁmmm%m
=] G| HTVT T 3R TRuRTa o Goh Ageayqul ST 81 78 Uk Geenfia aer & fh i Faer oy a5y
gred g1 o) el T & HeTR, g ofR I WA I & Kl FEhfa & arr meerd A 92 213 #) v
oT§T 7 hacl 9G] T N et § afen sfafifed geat @t oft uRafara et 21 zafem afy zn e
it 7 e o T8 v €, at g oft efR-oR Rl & i sruft wepfar o gt vt @@t 23 F) of an
A7 a1 arR el @ FRar R fRef s & Ren 23 § at wrdt gipfas e & fog g9 & rder &
fReft et 3R A Raroit ot e & arasye ARsht uRasr & g @R 78T fohar sgm ok g7 smoft defy
g oft Fe S| 3T HfARad, ag g go TS, g Tepfar ofk arfaes weredl & fa@r ok maw &
JHa &1 it SROT I

91.

ARG & IR T U FT THAT SIE ¢ ?
(@) el smen &1 =

(b) st aRawr A

(o) T & Hifeiss WY 3R IuHT T
(d) SIS TaTsi & faw

9. fPeRf@dals Sgamd IR &, A Rigaw:
| & AU /AT A /URYRH 1 Y /TSRl feam
@ T & S (b) & € URRE&HEFY (d) ¥ e

93, P=ff@add & ‘el o yafgarh sz 81 8 ?

@ uRa (b) fagm @ Mg d) bt
9. BfF@Fgds?
(a) a3z ATATSH b A Y (b) et ofRk vet & Aer
fe) gEadt ik T & A ol (d) @f 3R e & A
9. ‘Ruad o faeid w8 ?
(@) wEd ) fa= ()  rE (d)
%. %Wﬁ@m’%mwﬁzﬁmwmﬁa?
(@) fegaymA3 b) feag (¢ fegdemees (@) feodedh
9. - masmmfééfanw@aergae*ma?
(f)m?énaa b) JohEeE () Fwuse d) 9 e mge
o = P.T.O.

JH-01/B



98. O fo8 s S s &8 ug »13 feget @ mrarg '3 At €39 e

) gﬂuﬂ@ammaéeaeﬁu@aaz@namwmmmmamwma
QU-E 75 | ’

(i) frm == R A3 Buers gotgg I, B & Agars € faar wierd |
(i) fi == @ Yo Bues & s A 2dd Guerd I 6a fimfas e derd |
(@) &S (i) 3 (i) At T (b) TES (i) 3 (iii) St TS
(© 8 (i) 3 (i) At 75 d) == (i), (i) 3 (i) 5 75
99. ﬁmﬁéw:'mﬁ@@,m&é}mwwa@ﬁﬁé%mwaﬁwwwE‘I?f%fé
are feamyt féd g&:

(@) wa3u3gdfsEe (b) w3 Wes @ U, aag St 4t
() WIHJ3EIIHTI (d) uid wa g, Erad Sgntr e

100. WR3J wue © f¥a naE J; g7 UleE TH 3 / for 3 fogrer 9a wigg ot I/TS ?
(@) w39 » (b) B
(c) uxg fafasmr fefen d) (a)™3 (b)

101. 'ﬁgﬁwﬁ?ﬁwﬁmml'@aﬁafaﬁmmﬂﬁmma?

(@ 3 (b) 3o @) Sl (d) 33 B IEAr

102. ’nmféaﬁn#hﬁmh&aﬁﬁnﬁwéfé?ﬁwﬁwmrmmwaaﬂww&%gﬂ%@
v e mEe g2
(@) osgmr s (b) famres (c) ferfmi d) TIBSS

103, I fosfimi R faaar drmet mee B &Y’ ? nigy’ & Yarege’ 9 ?
(@) € (k) ®r (© ¥ (@ 8

B2 o B WS s &5 ug 3 fem € v’ 393 @ It YR IR yHe' @ €53 fe6
mamémmwmmmamauméﬁmmmwu@ﬁmmm@

ém@mﬁaﬂﬁwﬁwéméﬁwﬁémzﬁﬁ%aﬁﬁﬁﬁmﬂﬁa@m xa'aﬁﬁ-méa‘lé
et ot mEe it 8t f¥ v 9@ 7 g WSt 3T @ viar §E 9] 96 | grgt 3t nidtnrr ufgerg &t &t gt |, fow
wmwwa&mwwmmmmmwaswmwwmmmg

Urreft &t Gast © 8996 g It niHge H |

104. faotfaadn amm/amre fég Yl wdhr s @ et dee fad-ar-fant gu 89 &9 » 33 o 2
(@) naH (b) @aHt € U3t (d) wwHSt s
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105

106.

107.

108.

st feasu g & urddt mers 33 | 8 ARet & wrafim g |

R ()  fieh [ .
gﬁf%@ﬁ?ﬁ;:@gglzg%Aaﬁwnaﬁqm%@aﬁmﬁﬁss‘r%arr?{%,w
R T S 2 TR H &Y rer-oren w2l 0¥ g A1 B FH H I
R 0nT ©) 13520 e

g o (d) 16%R 30 fre

A and B are working on an assignment of making small toys. A takes 5 hours to make 36 toys on a

machine,.whjle B takes 6 hours to make 32 toys. How much time will they take, working together
on two different machines to make 188 such toys?

(@) 11 hours 30 minutes (b) 13 hours 20 minutes
() 15hours (d) 16 hours 30 minutes

f=fafea & @ frg g @t fiq gea g & = & 7 ST ST @ 2

() WA (b) =g sifeaTEs

() I SIFHTFES (d) grEgieH

Which of the following gas is not known as green house gas ?

(@) Methane (b) Nitrous oxide

() Carbon dioxide (d) Hydrogen

WRA & e 3 e SIede Y YR H gad X SHTHT HET Sl & ?

(@) oEde 19 (b) Sg=e2l o) ITEDE 32 d) =% 14

Which article of Constitution of India was called heart and soul of India ?

(@) Article 19 (b)  Article 21 (c) Article 32 (@) Acticle 14
109. ot & ook w0 ol

© o= (d) @ R

—_ isanexampleofan autotroph.

@  Animal (b) Plant

None of the options

© Fungi @ ’

W - P.T.O.



110.

111.

112.

113.

114.

115.

uﬁX,%Gﬁ?lOOa?éTﬂéﬁmq@Taﬁﬂ!ﬂﬂ%Gﬂ? )

b & SR &l i
@AX-4yY_ nd 100 and Y i the sum of the prime nump,

If X is the sum of the prime numbers between 86
between 1 and 15. Then X — 4Y is equalto ___— ;

(d)
(a) 145 ) 27 @ %
i sl fpelt & T W 900

ﬂasf%:maﬂwsﬂﬁanssmﬁuﬁﬁaweﬁtazﬂaﬁlawam%m%?

A shopkeeper purchased 90 kg of an item at the rate of Rs. 120 per
of 1 kg and sold all the packs at the rate of Rs. 135 per pack. What 15

kg. He packed it 900gm in pl,,
his profit%?

(@ 11.11% )  20% © 25% d) 22.22%
ﬁm}qgaﬁl#ﬁgﬂnﬂﬁ@ﬁaﬁtgﬂm/ﬁrmm%@wwa'

(@) I« gUol (b) THAA &Yl

() mada gor ) @ré e e

A full length of the image of a distant tall building can be seenusing____————

(@) aconvex mirror (b) a plane mirror

(c) aconcave mirror (d) none of the options
aﬁmm%ﬁsqaﬁamva&mﬁuﬁmaﬁéwﬁmﬁwmpwaaw g1 91y

If we say that the focal length of a spherical mirror is P times its radius of curvature, then P mt
be

@ 20 b) 15 © 10 d 05

Prefafda 3 @ 6 wifth i & T & ST 71 6 2

(a) TEZISH SIS HIES (b) RIS deraiaEs
(o R sitawrss (d) TTECH SHiTES
Which of the following is known as 'laughing gas' ?

(a) Nitrogen trioxide (b) Nitrogen pentaoxide
(c) Nitric oxide (d) Nitrous oxide

wuR AR AT ARA S ey

(a) BIEs b) vEgy (€ USR
Land which is bordered on three sides by water is called
(a) Highland (b) Peninsula ©)

d) R

Plateau (d)

JH-01/B 22
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ad & g8 iad T, e 209
116'L_g| TN TR @ W A ey A @ o @ o,
@ 3ay (b) 4a9

() 5o ad
el ‘ (d) 8
The least number of aomplfete year, in which a sum of m 9 mpound i
will be more than doubled, is : oney at 20% annual compound interest

(@) 3years (b) 4 years ©

5 years (d) 8years
17. g e T ”m”ﬁaﬁmmﬁﬁsﬂﬁqﬁaﬁ%ﬁ &gl AT 8|
(a) TET (b) 71 AR (© faads (d) SmEd
The change in the direction of a wave passing from one medium to another is termed as
(@) Interference (b) Mirage (c) Diffraction (& Refraction
18, T STASMERTH . @3g)

(a) o a1 & a1 ¥ o
M) GHM TEET & G GHE Hrf
() FHM Fd Afchd Uk 1ol TR & 91y
(d) SITT-37eT SRf Ak Teh & T
Homologous organs are organs that have
(@) Different function with a different structure
(b) Same function with the same structure
(©) Same function but with a different structure
(d) Different function but the same structure

119.ﬁ=ri%|f%am=ﬁuzﬁ%rﬁﬁ:
1 adehs Rdgs v d gy O B S § Stafes ge (S fadkes st & srerar wae o foeft oft
e ZIRT 921 fohaT ST R 8|
7 qﬁaﬁaﬁmaﬁﬂwmﬁﬁmmﬁﬁﬁmfﬁmmmﬁ?ﬁam%ﬁaﬁﬁauaﬁaﬁ
| &aranﬁé:%qm@mdaﬁﬁﬁ%qﬁmﬁm&maﬁi@
mﬁqwmﬁﬁ@aﬁqwﬁ%"r%@'?
(@) Fa1 (b) Fee2 ( 182 (@) FR1RTH2

Consider the following statements : .
L The public bill is introduced by a minister whereas a private bill can be introduced by any

member of the parliament other than the minister. ‘
2. Introduction of public bills require seven days’ notice, unlike private bill which needs at least

a fifteen days’ notice.

: ect ?
Which of the statements given above is/are corT

Both 1 and 2 (d) Neither 1 nor 2
@ 1om () 2only :
ﬁ*’w\ 4 23 P.T.O.



120.

121

122.

123.

124.

125,

FH @ IR TR gt Faxa_ wer sl

(a) w7 Y (b)  wmefdteor &=

© ymuRE™ & (d) oreuTsd &

The area of the earth between the Tropic of Cancer and the Tropic of Capricorn is caljeq
(@) Torrid zone (b) Temperate zone

()  Equatorial region (d) Alpine zone

Teh T 12% 1o R It o1t &1 afe 3@ 300 Fud aifden & s ST ot faghar &1 1 20% &tarl i =
AN T gl

(@) 2500 3ud (b) 3750 Iud () 4800 Tud (d) 5000 Fud

A chair is sold at 12% profit. If it was sold for Rs. 300 more, the seller’s profit would have bee;
20%. The cost price of the chair is

@ Rs.2500 (b) Rs. 3750 (©)  Rs. 4800 (d) Rs. 5000
T T A 1 70, 50 O ok 25 07 & s 5: 6 : 7 & agurd | & Al et A 195 39 2 @ 50 4F 2
et i Tem s A

A bag contains the coins of 1 Rupee, 50 paisa and 25 paisa in the ratio 5 : 6 : 7. If the total amount i
Rs. 195. Find the number of 50 paisa coins.

(@) 60 (b) 90 (© 120 d) 150

it & 9 3 o Rer amrsg i Toramh of 2
(@) R (B &=h (©)  ATTeToR" (d) T

Which of the following was the capital of Vijayanagar Empire ?

(@) Mysore (b) Hampi () Nagalparam (d) Gulbarga

SiefaTfich &2 20% i & it A a3 & Sy s Y g it @ 21

The effective annual rate of interest corresponding to a nominal rate of 20% per annum payable
half yearlyis | )

(@ 10% (b) 11% (© 221% (d) 21%
6mmwmﬁmﬂmmasa|maﬁmmmﬁm%mmw gl
The average of 6 consecutive odd natural numbers is 38. The difference between largest and
smallest number is !

(@ 38 (b) 19 (© 12 d) 10

JH-01/B 24




]
TN Sifeler - 1920
Ae) WRT et sricler - 1940
orrectly matched ?

(®)  Non-cooperation Movement -

(d)  Quit India Movement - 1940

T o
Tehey TdTa

Cripps proposals
11 plan




131. R4 & Gfu= F e gften H srgeron ¥ dfyu @ A TS B
" , : CRIE]
(@) TWET (b) o () MRS (d)

- g X ! d from the Constitutiop .,
Concept of judicial review in the constitution of India has been borrowe 10n o

(@ USA (b) Australia (c) Ireland () Canada

132. ﬁmﬁ'@"{&ﬁpﬁﬂlq (p < q) &1 TAHTTH 407 B aaq_g,p_'___%awal
LCM of two prime numbers p and g (p < g) is 407. Then g - 3p is equalto_____

@ 1 ®) 3 € 4 @ 7
133. HWEES SN WHR TR a1 g AHh o

(ay TarforR & R&far (b) TSIaT & THHRATS

(€ & & e d) sHIFSTS

The first ruler to accept Subsidiary Alliance was :

(@) Scindhias of Gwalior (b) Gaikwad of Baroda

(c) Nizam of Hyderabad ; . (d) None of these

134. ¥Rd & AFUT &1 AT HIH AT & ?
—a) dIHEH], TS99 & Rafa e iR Isgi/dzanad ueat 6 f{um guysi & RafRe gew
(b) i T, T I SR faum Tt & oxft gew|
() Had AHIHT, TN & e
(d) X ot e 7
Who elects the President of India ?

(@) Elected members of the Lok Sabha, Rajya Sabha and the elected members of Legislati
Assemblies of States/UT.

(b) All members of the Lok Sabha, Rajya Sabha and the members of Legislative Assemblies.
() The members of Lok Sabha, Rajya Sabha only.
(d) None of the options

135. P 3R Q Uah & &l 15 AT # qrr o wavdt &, Q R R 12 R & s7fs P ik R - !
39 U 9y @A HeA A foha =1 999 o) ? 10 Rt & oy o 7t ¢

@ 72fA (b) 8fRF (© 4f= d) 96fRm

P and Q can complete a work in 15 days, Q and R in 12 days while P dRi ; 7 lon
will they take to finish it together ? By Hov

(@) 7.2days (b) 8days () 4days (d) 9.6 days

JH-01/B 26
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tch the following : B
e Country Capital
| Argentina I Port Louis
7 Mauritius I Rabat
Morocco Il | Tirana
Albania IV | Vienna
- | Austria V | Buenos Aires
) P-II; Q-V;RI;S-II; T-IV (b) P-V;Q-IV;R-II;S-III; T-I
‘, P-IIl; Q-V; R-II; S-I; T-IV (d P-V;Q-I;RII;SII; T-1V

R SR 'ga' & A @ ST ST 8, foha 291 oh g2 R e dar & ?
) AU (b) e () sfieiet (d) coTTREE

under dragon known as ‘Druk’ appears on the flag of which country ?
 Nepal (b) Bhutan () SriLlanka (d) Kazakhstan
¥} A G el 3 RO ER A A& ? - .
AW (b) <IEHIES () WS (d) R o
ic of the given is a disease caused by protozoa ? |
Cancer ) Typhoid (c) Kala-azar (d) Chicken Pox
~. mﬁmm@aﬁﬁmmwﬁaﬁ = el ST &1
g o oy TrTed
- - (d) quch o .
.ﬂ’maiilﬂ rth to pull the object towards itself is called
: rce exerted by e ¢ (b) Gravitational force
‘ ostatic force (d) Contact force
Muscular force
ﬂ@m/al qar ol IRERAEL. . () aTéRe I
g () q‘a;_" : |
constituent of Vinegar 15 il () Acetic acid (d) Tartaric acid

AS
7 ‘o, aCid (b) 27 P.T.Oo



141 ﬁmmmﬁ@maﬁuﬁﬁmﬁuﬁﬁﬁaaﬂﬁﬁmmmél

(@) A (b) TR Rl ;

; : ical energy.
is the device used to convert electrical energy into mechan gy

(a) Galvanometer (b) Ammeter () Electric motor  (d) Potentiometer
142, Tieh-z<Re gugiar Ffared | @ fhed gafdd o ?

(@) Sifciarer Sm TSR (b) YRY-ART A1S

(c) wrgee St & Ralé (dy GfeTa ST Sl

Gandhi-Irwin pact was associated with which of the following ?

(a) Jallianwala Bagh Massacre (b) Chauri - Chaura Incident

() Simon Commission Report (d) Civil Disobedience Movement

143. ¥ Ry T e &1 SUE e AEfREd gersi Sl 98t dreshiA e § Jafed &

1. 3I9eEaN Sfiged - 422 2. ST §dWE

3. YURUIANE - (917 4, THGHAN - |30

Arrange the following events in correct chronological order using the code given below :
1.  Non-cooperation movement 2.  Flag Satyagraha

3.  Champaran Satyagraha 4. Salt March

@ 2431 b) 1,234 © 21,43 Wey- 1 3,1,2,4

144. mmﬂﬁmﬁ%m%@mm%qﬁmﬁqﬁﬂﬁmﬁﬁmﬁm%?
@@ fIaf= g () faafaT 2 ) fafa

Anaemia can result from a deficienc i itami
of which :
cells 2 y vitamin, essential for the production of red blood

d) fafm &

(@) Vitamin A (b)  Vitamin B12 (¢ Vitamin C ()  Vitamin D

145. fordt G @144 % 825 §, ot I W= @ 56% 2 - "y L2
. h._,/
[ - ) i /2/2

44% of a number is 825, then 56% of that number is : l

(@ 960 &y 1050 © 1080
= (d) 1225

-01/B 28 75 iy
- 35053, =
M St v an ¥ ‘



QZﬁWII:SO% @rqmﬁz

g;ﬁamll:%%aﬁzzo%@rz & B (&OY\STEW (Whﬁ; Kt}%_
faeeq 111 : 30% g

3 o Lot DredL

(@) Befaael o e

@ e

(© e feem

(d) e e 11 ok 1 9o e yarm 3,

Which of the following discount option will yield maximum discount on a product of Rs. x ?
Discount option I : A single discount of 509

Discount option II : 2 successive discount of 40% and 20%

Discount option III : 2 successive discount of 30% and 30%

(@ Discount option I

(b) Discount option II

() Discount option IIT

- (d) Discount options II and III will provide same discount. -

7. MR & PR TR ATeRT o 3 Aedt & w el A bt gAferd i
&
A

I | ek
e

Regaret NV | mer
Feh | T

. i hich flow through th ities :
- R and the rivers which tlow through these cities :
Match the following major cities of India RIVER

CIY — TRIGANA

GUWAHATI [ GODAVARI

JABALPUR -~ NARMADA

NASIE/———J—W” MAHANADI

VIJAYAWADA —— [ BRAHMPUTRA
[ERAIV e o

V
_CH_TT__éEI_S__.,/—I«‘-// @) P QIGRAILSIV; TV
P-II; Q-IIL; R-1L; s-v;T- G p-V; Q-III; R-IT ; S-I; T-IV

b by, o RIS

29 PT.



148. ‘Jﬁa=15,b=—73ﬂ?c=—8,t-ﬁa3+b3+@aﬂﬂﬁ8:
Ifa=15,b=—7andc=—8,thenthevalueofa3+b3+c3is:
@ 2520 (b) 1260 © 0 @ -8

149. ﬂﬁ(x—y)ﬂSO%=(x+y)$IZO%,a’li?ﬂm%:
If 80% of (x—y) =20% of (x+y), then the value of i— is :

(ay

ur| w

1 3
) 5 © 4 @ 3

150. ﬂﬁx%@i\mﬁmwﬁmﬁﬂ%aﬁ!yﬁﬁﬁﬂgaﬂ@m%%ﬁx—yiﬁlﬂﬁ___%l
If one fourth of one fourth of x is 47 and one third of one third of y is 83, then the value of x—yis

@ 0 & 5 © 1 d) 36
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